
Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
TABLE OF CONTENT Page00-00



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
TABLE OF CONTENT Page00-00



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
TABLE OF CONTENT Page00-00



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
TABLE OF CONTENT Page00-00



9690 COMBINE (EFF S/N HM87101)

13

712
1114 48

910
16

16

56 24

15

15

3
1 1

1
2

2

22

22

21

21

20

23
19

19

1918 17

Ref 36 Page 36



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
DECALS & LABELS - LEFT SIDE & FRONT LABELS, (PRIOR S/N HS87101) Page36
Item Part Number Qty Description
1 111091W1 3 DECAL, DANGER, SHIELD MISSING
2 111670W1 2 DECAL, WARNING, BELT OR CHAIN
3 71407700 1 DECAL, CYLINDER GEAR SHIFT
4 71379127 1 DECAL, WARNING, STAND CLEAR
5 700721125 1 DECAL, ATR
6  1 PLATE, SERIAL NUMBER (NOT SERVICED)
7 71394698 1 DECAL, 9690
8 590769M1 1 DECAL, PATENT
9 71395987 1 DECAL, LUBE GUIDE (PRIOR S/N HN87101)

71403605 1 DECAL, LUBE GUIDE (EFF. S/N HN87101 THRU HN87999)
71406769 1 DECAL, LUBE GUIDE (EFF. S/N HP87101)

10 71379128 1 DECAL, WARNING
11 71394692 1 DECAL, MASSEY FERGUSON
12 71394691 1 DECAL, FIELDSTAR
13 71394690 1 DECAL, MF LOGO
14 700720618 1 DECAL, TIRE USAGE
15 700721781 1 DECAL, WARNING, KEEP OFF
16 111095W1 2 DECAL, DANGER, HEADER FALLING
17 112967W1 1 DECAL, MASSEY FERGUSON
18 71379129 1 DECAL, WARNING, KEEP OFF
19 700717403 2 REFLECTOR, AMBER
20 71395757 1 EMBLEM, MF
21 71365412 1 DECAL, US FLAG
22 71379130 2 DECAL, WARNING, GRAIN TANK
23 111741W1 1 DECAL, DANGER, CLEANOUT
24 700727993 1 DECAL, BATTERY SWITCH (EFF. S/N HR87101)

MC00324
PR: 436



9690 COMBINE (EFF S/N HM87101)

35

22

2222

21

21

21

15

15

27 28
141211

11

13

1

1

34 5
2

2

333

3

910

10

8

732 6 4
31

30

26

26

25

2423

18

171919
16

20

29

Ref 38 Page 38



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
DECALS & LABELS - RIGHT SIDE & REAR LABELS, (PRIOR S/N HS87101) Page38
Item Part Number Qty Description
1 111091W1 2 DECAL, DANGER, SHIELD MISSING
2 111095W1 2 DECAL, DANGER, HEADER FALLING
3 111670W1 1 DECAL, WARNING, BELT OR CHAIN (QTY 2 PRIOR S/N HR87101)
4 700720727 1 DECAL, DANGER, SHIELD MISSING
5 71379128 1 DECAL, WARNING
6 71371720 1 DECAL, DANGER, ENGAGE RAM STOP
7 2609080W1 1 DECAL, HEAD LOWER ADJUST
8 71395988 1 DECAL, LUBE GUIDE (PRIOR S/N HP87101)

71406770 1 DECAL, LUBE GUIDE (EFF. S/N HP87101)
9 700721125 1 DECAL, ATR
10 71379127 2 DECAL, WARNING, STAND CLEAR
11 71379129 2 DECAL, WARNING, KEEP OFF
12 71394699 1 DECAL, 9690
13 71394693 1 DECAL, MASSEY FERGUSON
14 71394691 1 DECAL, FIELDSTAR
15 71394690 2 DECAL, MF LOGO
16 71348560 1 DECAL, DANGER, USE NITROGEN
17 71379126 1 DECAL, WARNING, FLUID PRESSURE
18 71394175 1 DECAL, VALVE STACK
19 111743W1 2 DECAL, WARNING, HAND AWAY
20 7020589 1 EMBLEM, SMV

7883275 2     SCREW, HX WSHR HD MACH, 1/4-20 X 3/4
70931209 2     NUT, HEX SERR FLANGE, 1/4-20
70917377 2     WASHER, 1/4, WIDE
70916952 2     WING NUT, 1/4-20

21 700717404 4 REFLECTOR, RED/ORANGE
22 700717402 4 REFLECTOR, RED
23 111736W2 1 DECAL, DANGER, STOP ENGINE
24 71368074 1 DECAL, BIN LOADER
25 590817M1 1 DECAL, HYDRAULIC RESERVOIR
26 71387749 1 DECAL, DANGER, STARTING FLUID
27 71389158 1 LABEL, EXIT
28 700725670 1 DECAL, WARNING
29 71395762 1 DECAL, DANGER
30 700720605 1 DECAL, WARNING, RADIATOR CAP
31 71385793 1 DECAL, AIR CONDTNING (PRIOR S/N HP87101)
32 71379132 2 DECAL, WARNING
33 71392776 1 DECAL, V.S. FAN DRIVE
34 71370232 1 DECAL, ACCUMULATOR SHUT-OFF
35 700729396 1 DECAL, BIODIESEL

MC00323
PR: 438



9690 COMBINE (EFF S/N HM87101)

13

12
21

11 14 17 19
222018

10 16
9

9

25
15 23

8
8

8
4

4

24

26 27 2

2
6

1
5

5

3

287

Ref 40 Page 40



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
DECALS & LABELS - LEFT SIDE & FRONT LABELS, (EFF. S/N HS87101) Page40
Item Part Number Qty Description
1 700720605 1 DECAL-WARNING, RADIATOR CAP
2 71379132 2 DECAL-WARNING, BELT, FAN
3 111741W1 1 DECAL-DANGER, CLEANOUT
4 111670W1 2 DECAL-WARNING, BELT OR CHAIN
5 700717403 2 DECAL-REFLECTOR, AMBER
6 71379130 1 DECAL-WARNING, GRAIN TANK
7 71379129 1 DECAL-WARNING, FALLING OFF
8 111091W1 3 DECAL, DANGER, SHIELD MISSING
9 111095W1 2 DECAL-DANGER, HEADER FALLING
10 700721781 1 DECAL-WARNING, KEEP OFF
11 700720618 1 DECAL-TIRE USAGE
12 700729424 1 DECAL-FIELDSTAR II
13 700727848 1 DECAL-MF
14 700727841 1 DECAL-MF, FRONT, LEFT
15 71379128 1 DECAL-WARNING, SHIELDS IN PLACE
16 700728779 1 DECAL-LUBE INTERVAL
17 700727843 1 DECAL-MF, LEFT
18 70924946 2 RIVET, 1/8 X 9/32
19 590769M1 1 DECAL-PATENT
20  1 PLATE-SERIAL (NOT SERVICE)
21 700729423 1 DECAL-STRIPE, LEFT REAR
22 71379127 1 DECAL-WARNING, STAND CLEAR
23 700727993 1 DECAL-BATTERY SWITCH
24 71407700 1 DECAL-CYLINDER GEAR SHIFT
25 700729398 1 DECAL-9690
26 71395757 1 EMBLEM, MF
27 71365412 1 DECAL, US FLAG
28 112967W1 1 DECAL, MASSEY FERGUSON

MC00571
PR: 71418087-03-12



9690 COMBINE (EFF S/N HM87101)

36
33

29

30
284

4

27 35

1

1

34
32

32

31

17

17

26

25 2324
10

10 10

10

19 20
22

2111

11

11

11

2

18

33

16
12 13 14 15

8 5

6
7

9

37

Ref 42 Page 42



Massey Ferguson
9690 COMBINE (EFF S/N HM87101) 651800
DECALS & LABELS - RIGHT SIDE & REAR LABELS, (EFF. S/N HS87101) Page42
Item Part Number Qty Description
1 111091W1 2 DECAL-DANGER, SHIELD MISSING
2 111670W1 1 DECAL-WARNING, BELT OR CHAIN
3 111743W1 2 DECAL-WARNING, HANDS AWAY
4 71379129 2 DECAL-WARNING, FALLING OFF
5 700728811 1 DECAL-VALVE STACK
6 71379126 1 DECAL-WARNING, FLUID PRESSURE
7 71348560 1 DECAL-DANGER
8 700717403 1 DECAL-REFLECTOR, AMBER
9 700721781 1 DECAL-WARNING, KEEP OFF
10 700717402 4 DECAL-REFLECTOR, RED
11 700717404 4 DECAL-REFLECTOR, RED/ORANGE
12 7883275 2 SCREW, HEX WSHR HD MACH, 1/4-20 X 3/4
13 70931209 2 NUT, SERR FLANGE, 1/4-20
14 353769X1 2 WASHER, 1/4 HARDENED
15 70916952 2 WING NUT, 1/4-20
16 7020589 1 EMBLEM-SMV
17 71379127 2 DECAL-WARNING, STAND CLEAR
18 700727844 1 DECAL-MF, BACK
19 111736W2 1 DECAL-DANGER, STOP ENGINE
20 71368074 1 DECAL-BIN LOADER
21 700729019 1 DECAL-HYDRAULIC RESERVOIR
22 71387749 1 DECAL-DANGER, STARTING FLUID
23 700720727 1 DECAL-DANGER, BELT OR CHAIN
24 71371720 1 DECAL-DANGER, RAM STOP
25 71370232 1 DECAL-ACCUMULATOR
26 71379128 1 DECAL-WARNING, SHIELDS IN PLACE
27 700729398 1 DECAL-9690
28 700727906 1 DECAL-MF, RIGHT
29 700727848 1 DECAL-MF LOGO
30 700729424 1 DECAL-FIELDSTAR II
31 700727847 1 DECAL-MF, FRONT, RIGHT
32 111095W1 2 DECAL-DANGER, HEADER FALLING
33 700729396 1 DECAL, BIODIESEL
34 71389158 1 LABEL, EXIT
35 700725670 1 DECAL, WARNING
36 71395762 1 DECAL, DANGER
37 700728778 1 DECAL, LUBE INTERVAL

MC00572
PR: 71418087-03-22



9690 COMBINE (EFF S/N HM87101)

18

2
2

36
3

40
30

39
7

19

29 4
41569

8 35 1038
33 37

31
34 25

32

22

22

1
21

21

24 2617 27
1416

13
15

12
11 28

20

23

Ref 44 Page 44



 

 

 
 

Our support email: 

ebooklibonline@outlook.com 

https://www.ebooklibonline.com/downloads/massey-ferguson-9690-combine-eff-s-n-hm87101-parts-catalogue-manual-instant-download/



